51

511

= 145554 + (0212 X ( ) - (36,052 X )- (16,69 X (

)

5.1
6
IR 2
=145.554+0.272( ))-( 36.052x( ))-(16.696 X(
= 150
= 2,00
=2

=145.554 + 0272 (150) -36.052 (2.00) - 16.696 (2 )
= 145554 +40.800 - 72.104 - 33.392
= 80.858 1 20858

52

200 1



=145,554+(0.272( JH 36.052x( )M 16,696 X(
= 200
= 200
=1

=145.554 +0.272 (200) - 36.052 (2.00) - 16,696 (1)
= 145554 + 54,400 - 72.104 - 16,696

= 111114 1 51114
5.3
12
400 2
=145 554+0.272¢( ))-( 36.052x( ))-(16.696 X(
= 400
| =270
=2

=145.54 +0.272 (400) - 36.052 (2.70) - 16,696 (2)
= 145554 + 108.800 -97.340-33.392
= 123,622 2 3622

512

1 (1) = 95.715+(0.350x( )+(L427x(
(42.333x( ) 2 (2) =69.412 +(0.391(
))+(7.266x( )

159

)
))+(12.464x(



54

' 250

1(1)
= 5.715+(0.350%( )+(L427( ))-(42.333x(
= 250
= 119,750
=
1

= 95,715 +0.350(250) +1.427(119.750) - 42.333 (2

= 95715 +89,750 +170.833-84.666

= 273632 4 33632

2
)
= 69.412 +(0.391( ))+(12.464x( ))+(7.266x0
1 =250
=75
=15

= 69.420 +0.391 (250) +12.464(7.5) +7.266 (L5)
= 69.420 +97.750 +93.480 + 10,899
= 271549 4 31549

* 2=213.632-271.549 =2.083

55

12

450

160



161

1
(1)
= 95.715+(0.350%( )+(L427( ))-(42.333( )
=450
=78
=2

= 95,715 + 0.359(450)+1.427(78)-42.333(2)
= 95,715+ 161550 +111.306-84.666

= 283,950 4 43950
2
2)
= 69.412 +(0.391x( ))+(12.464( ))+(7.26610 )
1 = 450
=3
£

= 60.420 +0.391(450)+ 12.464(3) +7.266 (2
= 60.420 + 175.950 +37.392 + 14532

= 297.294 4 51.29%
2=297.294-283.950 = 13.344

5.6
f 4
120
1
(1)
= 5.715+(0.350%( )+(L427( ))-(42.33340 )
=120

=67.50



= 95,715 + 0.359(120) +1.427(67.50)-42.333(1)
= 95715 +43.080 +96.323-42.333

= 192785 3 1278
2
2)
- 69.412 +(0.391x( ))+(12.464%( ? ) +(7.26640
1 =120
=3
=6
1

= 60.420 +0.391(120)+12.464(3) + 7.266 (6)
60.420 +46.92 +37.392 + 43,569
197301 313

2=197.301 - 192.785 = 4.516

162



52

521

=145.554+(0.272x(

5211

0.272

1.50

600
24

))-(36.052¢( )) -{16.696x0
0.272
Q)
150
200 500
4

250

163
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1) 50
2
) 51 - 250
3
3) 251 - 600
4
) 601
5
3 251, - 600 4
251 - 600 94,928
=145,554+0.272¢( ))-(36.052x( ))-(16.696x( )
( = =150 =2%) )

251 = 145554 +0.272 (251) - 36.052 (150) - 16.696 (2
145,554 + 68,272 - 54,078 - 33.392

126,356 2 635

145554 +0.272 (600)-36.052 (1.50)- 16.696 (2)
145554 + 163.200 - 54,078 - 33.392

221284 3 41284

221,284 - 126,356 = 94.928

600



4 600
1000 108.80
=145,554+(0.272x( ))-(36.052x( ))-(16.696x(
= =150 =2 )

(

600 = 145554 +0.272 (600) - 36.052 (1.50) - 16.696 (2
= 145554+ 163.200-54.078-33.392
= 221.284 3 41284

1000 = 145554 +0,272 (1000) - 36.052 (L.50) - 16.696 (2)
= 145,554 +272.000-54.078-33.392
= 330,084
= 330,084 - 221.284 = 108.80

50 2

=145.554+0.272¢( ))-(36.052¢( ))-(16.696x(
( = =150 2 )

T1= 145554 +0.272 (50) - 36.052 (150 ) - 16.696 (2 )
= 145554 + 13600 - 54,078 - 33.302
= 71684 1 11684

50 1
2 71.684

600

165

)

1.50
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L 7
250
= 145,554+ 0.272(250)-36.052( 1.50)-16.696(2)
145,54 + 68.000-54.078-33.392
126086 2 6084

250
= (271684 )x 126084
= 3518
3518>3000 | )
3.518-3.000 =0518
0518 X 150 = 0.777 ( 150 )
C3 = (3.518X 1.50)/3 =1.759
2 601
250

= 145554 +0.272(601 )-36.052(L.50)- 16.696(2 )
= 145,554 + 163.472 - 54.078 -33.392
= 2155 3 41556
250

= (271684 )x 221556
= 681

6181 >5 | )

6.181 -5.00 = 1181

1181 . 150= 1772 ( 150 )

15 = (6,181 X 150)/5
=1.854



50
51
100
150
200
250
251
300
350
400
450
500
550
600
601
650
700
750
800
850
900

51
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()
71.684
71.956
85.284
98.884
112.484
126.084
126.356
139.684
153.284
166.884
180.484
194.084
207.684
221.284
221 .556
234.884
248.484
262.084
275.684
289.284
302.884

2.000
2.008
2.379
2.759
3.138
3.518
3.525
3.897
4.217
4.656
5.036
5.415
5.794
6.174
6.181
6.553
6.933
7.312
7.692
8.071
8.451

167

1.500
1.004
1.190
1.379
1.569
1.759
1.322
1.461
1.604
1.746
1.888
2.031
2.173
2.315
1.854
1.966
2.080
2.194
2.307
2.421
2.535
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-36.052
36.052

3 .. 2543

BV

1.50 1.50

( Burris et al:1972 )
120

Neufert; 1992,348)
1.60 250
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( 1,50
160 )
=145.554+(0.272x( ))-(36.052x( )) -(16.696x0 )
( = 150 =2 )

T1= 145554 +0.272 (250) - 36.052 (1.50)- 16.696 (2)
= 145,554 + 68.000 - 54.078 - 33.302
= 126.084 2 6084
6.084

250

120000 = 145554 + 0.272 (250 ) - 36.052 (Xj) - 16.696 (2)
= (145554 +68.000 -120.000 - 33.392)/36.052
= 1.669

350
= 145,554 +0.272 (350) - 36.052 ( 1.50)- 16.696 (2)
145,554 +95.200 - 54.078 - 33.392

= 153,284 2 33284
33.284
120
120.000 = 145554 +0.272(350 ) - 36,052 }- 16.696(2)

= (145554 + 95200 - 33.392 - 120,000 )/ 36.052

= 2423

150 2
228

120



100
150
200
250
300
350
400
450
500
550
600
650
700
750
800

5.2

228
52

1.500
1.500
1.500
1.500
1.500
1.500
1.500
1.500
1.500
1.500
1.500
1.500
1.500
1.500
1.500

52)

(
120,000

120.000
120.000
120.000
120.000
120.000
120.000
120.000
120.000
120.000
120.000
120.000
120.000
120.000
120.000

120

)
85.284

98.884
112.484
126.084
139.684
153.284
166.884
180.484
194.084
207.684
221.284
234,884
248.484
262,084
275.684

120

5.2

171

0.537
0.914
1.292
1.669
2.046
2423
2.800
3.178
3.555
3.932
4.309
4.687
5.064
5441
5818



5.2

7.000

6.000

5.000

4.000

3.000

2.000

1.000

0.000

1

100 200 300 400 500 600 " 700 800
5213 ! X
16.696
16,606
1 (1 15 )

5211

900



( Neufert1972,348 )
2 250

( 1,50
160 )

=145,554+(0.272x( ))-(36.052x( )) -(16.696x0
( = 150 =1 )

145,554 +0.272 (250)- 36.052(1.50 ) - 16.696 (1)
145554 + 68,000 - 54.078 - 16,69

= 142.780 2 22.180
22.180
: 2
126.084 ; 6.084
3
109.388 ; 120
250 3

53

173
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53

1
()
101.980
115.580
129.180
142,780
1 .380
169.960
183. 0
197.180
210.780
224.380
2371.980
251 0
265.180
218.780
292.380

53

120

2
()
85.284
98.884
112.484
126.084
130.684
1 .284
166.884
180.484
194.084
207.684
221.284
234.884
248,484
262.084
215684

2.00
54

3
()
68.588
82.188
95.788
1 .388
122,988
136,588
150.188
163.788
177.388
190.988
204.588
218.188
231.788
245.388
258.988

2.50
55

4
()
51.892
65.492
9. 2
92,692
1292
119892
133492
147 2
1 .692
174.292
187.892
201.492
215 2
228.692
242.292

1.50

174

1.50

()
35.19%
48.7
62.3
5.9
89.5
103.1
116.7
13
143 6
1575
171.1
184.7
13
2119
225.5



100

200
20

G858 88

g 8

70
800

54
2.00

()
83954

97.5%4
111154
124,754
138.34
15194
165.554
179.14
192.754
206.354
219.954
233.554
247154
260.754
214,354

2
()
67.258
80.858
94458
108.058
121658
135258
148.858
162.458
176.058
189.658
203258
216,858
230458
244,058
257.658

()
50,562

64.162
71.762
91.362
104.962
118562
132162
145.762
159.362
172962
186.562
200.162
213.762
221,362
240,962

4
()
33.866
47.466
61.066
74,666
88.266
101.866
115466
129,066
142,666
156.266
169.866
183466
197.066
210,666
224.266

75

5
()
17170
30.770
44310
51970
71570
85.170
98.710
112370
125970
139570
153170
166.770
180.370
193970
27510



150

250

30

450

550

650

750

55
2.50

1
()
65.928
79528
93.128
1 .728
120.328
133.928
147528
161.128
174,728
188.328
201.928
215528
229128
242.128
256.328

()
19232

62.832

16432

90.032

103.632
117.232
130.832
144432
158.032
171632
185.232
198.832
212432
226.032
239,632

3
()
32536
46.136
59.736
13.336
86.936
1 536
114.136
1271736
141.336
154.936
168.536
182.136
195736
209.336
222.936

15840
29440
43,040
640
70240
83.840
97.440
111.040
124,640
138.240
151840,
165.440
179.040
192.640
2 .240

176

12.744
26.344
39.944
53.544
6/.144
80.744
94.344
107.944
121544
135144
148,744
162.344
175944
189.544



1

5.2.2 !

L () = 95.715+(0.359%( ))+(L,427( )-
(42.333x( ) 2. (2) = 69.412 +(0.391x( ))+(12.464
( ))+(7.266x0 )
522.1

! 0359 0391
0350 0301
L)

45

L 1 500 45



@

= 05.715+(0.350x( )+(L427( ))-(42.333(

X, =500
X2=45
X6=2

§2=05.715 + 0.359(500 J+ 1.427(45) -42.333(2)
= 05,715 + 179,500 + 64.215 - 84.666

= 255.764 4  15.764
()
= 69.412 +(0.391x( ))+(12.464x( ))+(7.266X(
)
X, =150
X2=45
X6=2

T2=95.715 +0.359( 150 )+ 1427(45) -42.333 (2
= 05,715 + 53.400 + 64.215-84.666
= 128,664 2 8664
255,764~ 128664 = 127.100

178

45



45
120

120

100
150
200
250
300
301

150

120

179

56

56
51192 .
38.613 .
26.034 .
13.456 .
0877 .



100
150
200
250
300
350
400
450
500
550
600
650
700
750
800

56

45.000
45.000
45.000
45.000
45.000
45.000
45.000
45.000
45.000
45.000
45.000
45,000
45.000
45.000
45.000

111.164
129.114
147.064
165.014
182.964
200.914
218.864
236.814
254.764
212.714
290.664
308.614
326.564
344514
362.464

120

51.192
38.613
26.034
13.456
0.877

-11.702
-24.281
-36.860
-49.439
-62.018
-74.596
-87.175
-99.754
-112.333
-124.912

45.000
38.000
26.000
13.000
0.500
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000

300

180

()
111.164
119.125
119.951
119.350
119.463
136.699
154,649
172.599
190.549
208.499
226.449
244.399
262.349
280.299
298.249



5.7

200
200
200
200
200
200
200
200
200
200
200

%
42,616 %

()
100.000
90.000
80.000
70.000
60.000
50.000
40.000
30.000
20.000
10.000
0.000

57

50 %

150

100

( )
267.882
253.612
239.342
225.072
210.802
196.532
182.262
167.992
153.722
139.452
125.182

20 %

181

10

0.000%
5.327%
10.654%
15.981%
21.308%
26.635%
31.962%
37.289%
42.616%
47.943%
53.270%

26.635



5222

(

)+(L427%(

42333

42.333

(Ingress )

))-(42.333x(

182

(Egress )

1 = 95.715+(0.359x



183

()
=95.715+(0.359x( )+HL427X( ))-(42.333x( )

=200
=45
=1

=95.715 + 0.350( 500 )+ 1427(45) - 42.333 (1)
= 05,715+ 179.500 + 64.215 - 42.333

= 298.097 4 58.097
2 255,764 42333
3 213431 84.666
2
2
15
( )

1-3



184

5223 ,
2 = 69.412 +(0.391x ))-+(12.464x(

))-+1.26640 )

12.464 1 (1)

(Fluid Mechanics )

( Personal Space )

180



5225 ,

SPSS

))*+(7.266x(
7.266

1.00

Gridline Co-ordinator )

1.00 X 1.00

= 69.412 +(0.3910
)

2.00

185

))-+(12.464(



53

531

36.052

18.026

(

200

150

1.00

1.00

186



187

1.00 18.026



[Sevunsnnnassnnavenevas s e

, = 112484

51

' =76.432
36.052
: 15.384 %

® 150 .

2.50

' 94.458
18.026
' 7.692 %

2.50

' 94.458
18.026
1692 %

887
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532 '

5321

= 95.715+(0.359x( ))+(L,427x( ))-(42.333x( )

=300
=119.750
=)

5
= 05,715 +0.359(300)+ 1.427(119.750)-42.333(2)
= 95,715 + 107.700 + 170.883-84.666

= 289.632 4L 49632



190

@
= 05.715+(0.359%( ))+(L427( ))-(42.333x( )

= 05,715 +0.350 (180 )+ ' 427 (76,950 )- 42.333 (2)
= 95,715 + 64,620 + 109.808 -84.666
= 185477 3 5477

2 =289.632 + 185477 = 475.109
7 55109

@)
= 95.715+(0.359x( )+(L427X( ))-(42.333x( )



19

! 5
= 05,715 +0.35 (300 ) + 1.427 (25.750 ) - 42.333 (2)
= 05,715 + 107.700 + 36.745 - 84.666
= 155,494 2 35494
280,632 - 155.494 - 134.138

2 4
' @
= 95.715+(0.350x( ) H(L427X( ))-(42.333(S )
=180
1 =68.550
£ =2

= 05,715 +0.350  180)+ 1.427(68.550)-42.333 (2)
= 05,715 + 64,620 + 97.821 - 84,666
= 179.490 2 59490

185.477- 173.490 = 11.987

2
= 134.138 + 173.490 = 307.628
5 7628
45
A) C ) "

167.481 2 41481 ’
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5.3.2.2 !
f
2 1
180
1
3
4
2
3
@
=69.412+(0.39L x( ))+(12.464x( ))+(7.266x(
)
=200
=4
=7
1 ’I 3

= 60.715 +0.39L (200 ) + 12.464 (4)+7.266 (7)
= 60.715 +78.200 + 49.856 +50.862
= 248,633 4 8633

194



19

2)
=69.412+(0.391x( ))+(12.464x( ))+(7.266x(
)

3
= 6.715 +0.391 (200 )+ 12.464 (2) +7.266 (6 )
= 69.715 + 78.200 + 24.928 +4359

= 215,839 3 35839

' 248.633 -215.839 =32.7%4
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2.
1 I
2
2 4 360
( Straight - Flight)
( ) n
@
=69.412+(0.391x( ))+(12.464x( ))+(7.266x(
)
=200
=4
=0
' u
=69.715 +0.391 (200 ) + 12.464 (4)+7.266 (0)
=69.715 +78.200 + 49.856
= 197.771 3 um
( ) 1
@
=69.412+(0.391 ( ))+(12.464x( ))+(7.266x(

)

198



199

=200
=0
1
=69.715 +0.391 (200 ) + 12464 (0)+7.266 (0)
= 60.715 + 78.200
= 147915 2 27915

197.771
147.915 =49.856
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5323 !

345
1.00
3
2)
=69.412+(0.391x( ))+(12.464x( +(7.266x(
)
=200
=4
=65

= 69.715 + 0391 (200 ) + 12.464 (4)+7.266 (65)
= 60.715 +78.200 + 49.856 +47.229
= 245,000 4 5000

201



202

@

=69.412+(0.391x( ))+(12.464x( ))}+(7.266x(
)
=200
! 3
=69.715 +0.39L (200 ) + 12.464 (4) +7.266 (0)
= 60.715 + 78.200 +49.856
= 197,771 3 1um

24500 -197.771 =47.229
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55

SPSS
for Windows ( Linear Multiple Regression )

( Behavioralism )

44
699 159
SPSS

L

= 145554 +(0.272., ( )- (36,052 (

))- (16.696 ( )
95 9%

2

21

= 95715 +( 0359  ( )+ (1427, (

) - (42.333 ( )

9% %



2.2

= 69.412+ (0391 . (
) +(7.266 (

31

3.2

3LL

312
313

321
322
333

90 %

) +(

12464 .

45

208



56

( Egress )
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